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The illustration below shows one way cancer Ol W dan o) ofas AN @kl (gaa) (e sbial JSAN

| can spread from one body part to another. PANEN (e Al e ca
Which letter of the following indicates cancer cells? fauils e WA ) Jads b las aa q,-l




In the figure below, the celi cycle involves three rdalia SO0 AR 550 CpadaTs colial JEA B

stages—interphase, mitosis, and cytokinesis. et D ) alealiVly Ssladiall alualilg ) gl
Interphase is divided into three substages. In which s Jala S0 A ) skl audiig

stage of the following does a cell prepare for mitosis? $Soleaiall Al AAl) 4 2aS o Laa ala ja L.;l ua
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| he figure below shos the homologous
chromosomes that are physically bound

{ together during synapsis in prophase |.
What does the letter (A) stand for?
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The daughler cells are genelically idenlical

Synapsis ol homologous chromosomes does nol occur

It occurs only inreproduclive cells

Itoccurs only in body cells

Llyg disUana sl gl LA

L adula) LAY 3 Gas

L daecal) LAY 3 ey
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“Esed on the figure below. Lol Jeil _,jg_i.;m...n

|

Which letter of the following indicates an organism for which  4dcgaaall 205 03$ & G ) Jads L laa G Q;i
polyploidy is useful? Casda oLVAS dna puagag Sl
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| Use the hypothetical cell shown below to answer the question: :Jljudl oo dladd olial diieall daal3y) Zal) PRESIN

What is the ratio of its surface area to its volume? Tlgana J Gaho dalea A b
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Mendel took the pollen from a tall pea plant and pollinated the 434 B8 g itly dbigh Y3k A0S O T Gipea Jaia al

flower of a short pea plant. When he did this, he removed the | dii 3 5l 4,83l slac ) Ul (Al aald sal . 5pad oYL
male parts of the flower of the short plant. Bpalll oYL
Why was it important that he remove the male parts from the | oVl 435 58 (e 4483 slaac¥) S O agall o OIS 1ila
flower of the short plant? €3 0adl)

O Because he wanted lo prevent sell-pollination of the plant q:\’;\l il aias o) 21 &Y a
O Because the short plant was helerozygous Sliugd! Aillace cilS Spuadll SV Ao oY D

O Because the short plant was nol a lrue-breeding plant LS A e 0S5 o Bpmadll YW A3 Y <
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The figure below shows some phases of meiosis, study A dewipdl cRiaial) ALY skl (lans G alial JEAN
it and then answer the following question: t AN Jigudl o6 canl

Which letter of the following indicates Anaphase II? t okl ladiyl jehall ) el A Las cdja c_qi
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The figure below shows the spindle apparatus. cimal) Jlgad) CligSa Cp cslial SN I
Which letter of the following refers to spindle fibers? Cliaall bgd ) auds L laa apa q;i
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and answer the question:

Which letter of the following indicates Metaphase?

The figure below shows the phases of mitosis, study it e al a5 dusl ((Goludal) sluds¥) Jlghl Cuw slisl JSE

T lgtatd] Jshall ) ey A Laa i (g
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In the figure below, which letter

indicates the cell plate?

wojWgizul pluwdiVl :P2

of the following dagiall ) sl b Laa cija gl olial Joib 4 ‘




The figure below showing linked genes.

Which of the following statement is incorrect?

O Crossing over occurs

Homologn
wepar ate

ABLazal Figi Juakis
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pea plant and pollinated the
he did this, he removed the
it plant.

ove the male parts from the
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In minks, brown fur color is dominant to silver-blue fur color. § Jill Ladll Ogll o Sulu dda 3o i) Jlgas 2 A0 9080 O3l O
If a heterozygous for the genes of brown mink is mated with fa Al Al O ddal Slall CAlldls dia Jlpas sln e L4350 )

a silver-blue mink and (8) offspring are produced, how many Oa U AL (8) Lo L) daiil) colsd (B30 ) Jile b Ol Al
offspring would be expected to be silver-blue? 40 L) Sle aad 0y O gl O35 O adgly Aol
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dihybrid mating in Punnett square G Sl pasa B '- - nl l ﬂ
possible combinations of the

| parent.

1otypes does the letter (A) refer to?
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